

Affiliated to Savitribai Phule Pune University & Recognized by Government of Maharashtra (ID No. PU/PN/ASC/289/2007)

Date: 22/02/2017

Financial Help

Our employee Mr. Mohan Vitthal Shinde, Driver at Principal Office, needed financial help for heart surgery of his son Mr. Om Mohan Shinde, scheduled at Deenanath Mangeshkar Hospital, Pune. As per appeal through notice no. MITACSC/ ACA/ PO/77, many faculty members, staff, students & Institute contributed for this cause. Total collection of amount is Rs. 98, 396/- (Rupees Ninety Eight Thousand Three Hundred Ninety Six Only). So we, all faculty members, staff, students of MIT Arts Commerce & Science College, with prayers for successful surgery & good health of his son giving this amount to Mr. Mohan Shinde.

Denomination of amount is as follows:

Notes	Amount(Rs.)
Cheque	40,000/-
2000 × 8	16,000/-
500 × 35	17,500/-
100 × 165	16,500/-
50 × 64	3,200/-
20 × 109	2,180/-
10 × 301	3,010/-
2 × 3	6/-
Total	98,396/-

Mr. Manmath Adsul

HR Assistant

MS. Reshma Somvanshi

HR Executive

Mrs. Manasi Atitkar

HOD BA & BCom

Mr. Sandip Rohinkar

Head of Accounts

Mr. Ğaurav Magar

Dy. Registrar

Dr. B. B. Waphare

Principal

Received

ma Mohan shinds



Affiliated to Savitribai Phule Pune University & Recognized by Government of Maharashtra (ID No. PU/PN/ASC/289/2007) (AISHE Code : C - 42151)

MAEER/MITACSC/2020/ 76

Date: 08th December 2020

To, Mr. Nilesh Mate Library Assistant, MIT ACSC, Alandi (D), Pune-412 105.

Subject: - Financial Help for Medical Treatment.

Dear Mr. Nilesh Mate,

To support you financially to overcome the expenses for your treatment of surgery for right hand, an appeal through notice no. MIT ACSC/ACA/PO/53 dated 10th November 2020, our teaching & non-teaching staff contributed for this cause. Total collection of amount is **Rs. 51,501/- (Rupees Fifty One Thousand Five Hundred One only).** Therefore, we, all teaching & non-teaching staff of MIT Arts, Commerce & Science College, with prayers for your better health giving this amount to you.

Please acknowledge the receipt of the same.

Prof. (Dr.) B. B. Waphare

Principal

Recure Ps. 51,501/ Hillsh rate



₹25,000

Paid to Nilesh Mate

Financial Help for medical treatment from MITACSC Staff



UPI Transaction ID 034316510725

To: NILESH DATTATRAY MATE nileshmate28-1@okicici

From: RESHMA BHAGVAT SOMVANSHI (HDFC Bank) reshmasomvanshi@okhdfcbank

Google Transaction ID CICAgKDDgvWQMA

Payments may take up to three working days to be reflected in your account. Check your or your recipient's bank statement for the latest status of your transaction. Learn more



₹26,501

Paid to Nilesh Mate

Financial help for medical treatment from MITACSC Staff

Paid ₹ 26,501
8 Dec 2020 • 4:15 pm

UPI Transaction ID 034316524287

To: NILESH DATTATRAY MATE nileshmate28-1@okicici

From: RESHMA BHAGVAT SOMVANSHI (HDFC Bank) reshmasomvanshi@okhdfcbank

Google Transaction ID CICAgKDDgu2FfA

Payments may take up to three working days to be reflected in your account. Check your or your recipient's bank statement for the latest status of your transaction. Learn more





Affiliated to Savitribai Phule Pune University & Recognized by Government of Maharashtra (ID No. PU/PN/ASC/289/2007) (AISHE Code : C - 42151)

MAEER/MITACSC/2019/98

Date: 26th December 2019

To, Mr. Sachin Ghundare MIT ACSC, Alandi (D), Pune-412 105.

Subject: - Financial Help for Medical Treatment.

Dear Mr. Sachin Ghundare.

To support you financially to overcome the expenses for your treatment of chemotherapy, an appeal through notice no. MIT ACSC/ACA/PO/72 dated 06th December 2019, all our teaching, non-teaching staff & students contributed for this cause. Total collection of amount is Rs. 1,05,730/- (Rupees One Lakh Five Thousand Seven Hundred Thirty only). Therefore, we, all teaching, non-teaching staff & students of MIT Arts, Commerce & Science College, with prayers for your better health giving this amount to you.

Contribution of amount is as follows:

Contribution	Amount (Rs.)
Teaching & Non-teaching Staff Contribution	72,450/-
Student Contribution	33,280/-
Total	1,05,730/-

Ms. Sneha Jadhay **General Secretary**

Cultural Secretary

Mr. Bhavesh Patil **Sports Secretary**

Ms. Reshma Somvanshi

amvand

HR Executive

Dr. Sharad Kadam

Asst. Professor, BBA & BBA (IB)

Mr. Akshay Mondekar

Mrs. Rashmi Lad HOD, Computer Science

Mr. Sandin Rohinkar

Registrar

Prof. (Dr. B. B. Waphare Principal



1

MAEER Pune's

MIT Arts, Commerce & Science College

Alandi, Pune - 412105.

Affiliated to Savitribai Phule Pune University & Recognized by Government of Maharashtra

(ID No. PU/PN/ASC/289/2007)

Date: 25/06/2014

Financial Help

Our employee Mr. Sachin Ghundare, Peon at Principal Office, needed financial help for Kidney transplantation scheduled at K. M. Hospital, Pune. As per appeal, many faculty members, staff & students contributed for this cause. Total collection of amount is Rs. 62, 130/- (Rupees Sixty Two Thousand One Hundred Thirty Only). So we, all faculty members, staff & students of MIT Arts Commerce & Science College, with prayers for successful surgery & good health of Mr. Sachin Ghundare giving this amount to his brother Mr. Nilesh Ghundare.

Dr. B. B. Waphare

Principal



Condibution collected From employee & student

RS. 62,130)-3112171 = 011408 ECHT EQUIT APRI FRONT

Chundaze nivesh

Recirel-Phundare 28/06/14